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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 4th Semester Examination, 2022

BOTHGEC04T/BOTGCOR04T-BOoTANY (GE4/DSC4)
Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks. aNfer T F0Z FKYMo Q"Y/VW fac e
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

I. Answer the following questions: Ix16 =16

afrfRe epefler Tea nies

(a) What is Osmotic Solution?
FAARE G FICF A0 9
(b) What is Physiologically dry soil?

=AER BF JGF| PICF I 2

(c) Define Plasmolysis.
AP HER el we |

(d) Why transpiration is called necessary evil?
AT TG 56 T 2 (F 2
(e) What are the differences between passive and active ion absorption?
ffEr SiRe-ceel @R G SR-(eIRel-a7 ~AILmefer @eal
(f) What is ‘Red Drop’?
@fee-Hfe FE I 9
(g) What are the end products of anaerobic respiration?
SIS HACA Tesfe Anifaf {6 & 9
(h) Why Krebs Cycle is called amphibolic pathway?
(@ bR SIfFRFAfere Y (e I 2 9
(1) What is ‘triple response’?
“TToieT =i S 9
(j) Define Vernalization.
OHFIREH-aF RS 7S
(k) What is leg-haemoglobin?
(1o- fegaticaNfRe hicss e ¢
(I) Write the differences between co-enzyme and prosthetic group.
(Pl-GTENZN @R ACELS QPR 0Ky AL @I
(m) What is Source and Sink?

T @ FrE I 0 2
(n) What is trace element? Give an example.
(871 @feTTs H 9 9o Trigge wie |
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(o) Name two free-living Biological nitrogen fixing microorganism.
75 FIATGI TSR WRIFAFI (GhS) SAGIEE W A |
(p) What is Bidirectional translocation?

TRl ~ifazel B A0 9

2. Answer any eight questions from the following: 3x8 =24
T @-Cieat o5 elvea Teg wiss
(a) Distinguish between transpiration and guttation.
LA @ eFReer Sy NPy @l

(b) Mention two important physiological role and one deficiency symptom of
Sulphur (S) and Calcium (C).

ARTFIF @R FIEORICHT 76 I3 GG 2T IS ¢ 4P F(A ToqeieTs avel
TeEe

(c) Describe dark acidification and light deacidification in CAM plants.
CAM ¥ g orireas ¢ e [eriieas 9 et

(d) Give a brief account of starch-sugar hypothesis describing the mechanism of
opening and closing of stomata.

“[qaE A € IF 23 &AfEf BE xR Teqw SpHica 1 T

(e¢) What is Cavitation and embolism? Discuss ‘Cohesion tension’ Theory.
ST € qraIfeTens T 0 9 TPR 1 ©gl 3671 el |

(f) Describe the mode of enzyme action.
T TR Il WS |

(g) Discuss the role of auxin on apical dominance and tropic movement of plants.
aE AF00] @ BT HeTC SRR S P! SCENH= S|

(h) Classify plants on the basis of Photo-periodism.
wieeEges fefers Sfema @t T

(i) Mention the different complexes of mitochondrial electron transport system.
TG 2t #fiRee eraa f[fon Feme ae s

(j) Distinguish between cyclic and non-cyclic Photophosphorylation.
GRS 8 THIRSTR RPN AL @Il

(k) What do you mean by secondary active transport? What is Symport?
(et AT ifzet T90e F Q@I 2 BIReetT F 9

(1) Discuss the external and internal factors controlling respiration in plant cell.

TRWCEIC HCR IS 8 Sroredd *SHR Sl FCI |

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 4th Semester Examination, 2021

BOTHGEC04T/BOTGCOR04T-BOoTANY (GE4/DSC4)
Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer the following questions: 1x16 =16
feraferie emafr Tes nes
(a) What is water potential?
GRS FIE A 9
(b) Which property of water makes water an excellent solvent?
G(TS (P A G Y9 QI QIF S (10T 2
(c) Mention the significance of magnesium in plants.
Tfew (e SIEPRIN-9F Sl Sard 6l
(d) What is allosteric site?
SCAICHRET ARG i 2
(e) What is phloem unloading?
CEPICIS TR FICE T 2
(f) What is the structural difference between Chlorophyll a and Chlorophyll b?
FEIRFT a @R R b-a3 T oare 21 F 9
(g) Name the first electron acceptor in case of non-cyclic light reaction.
SAIRGFIE ST [RIFR 22w Sga allerda s @l
(h) Which part of the spectrum is used by the plants for photosynthesis?
SN NG @I TR AR FICS O Gn IR FC 9
(1) What is the first stable product during C4 cycle?
C4 bres 7Y 2w ot @rerg S o
(j) Which cell organelles are involved in the process of photorespiration?
AT 2SO N (I (I (T ol & 9
(k) What is cotransport?
wesifaaes < 9
(1) What is ‘holoenzyme’?
ANGTGIZN FICF 0T 2
(m) Name the coenzymes required for nitrogen fixation.
TIBCBICE FRIHCA ARG coenzyme-ad 1 SF T |

(n) Name one free living nitrogen fixing bacteria.

@0 FIRNSIA NICBCTH RIFAFIA IS EAF N GFTC |
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(o) Define apical dominance.
&g 2T FIE A0 2
(p) Give example of one short-day and one long-day plant.

ZHMAl gk T Sfgma @i S6a Trizad wis |

2. Answer any eight questions from the following: 3x8 =24

fafeiie @-cpie Bl elves T mes

(a) Write down the factors affecting transpiration.
BT @O feT (ST S

(b) Explain pressure flow hypothesis of sugars translocation in plants.
Tfem =147 TSR b1 2-0E S it S|

(c) Write short note on applications of vernalization.
SRS T AR el @Tedl|

(d) Why RUBISCO is called dual enzyme?
RUBISCO-(F (7® TLHHF &l T (el ¢

(e) Discuss the significance of oxidative pentose phosphate pathway.
Oxidative pentose phosphate-"1¥ @< ¥R O FCA |

(f) Mention the role of catalase in the process of photorespiration. What is the
significance of photorespiration?

AR AR IS SN ShiF! Srae Tl | ST Ol fF 2
(g) Write down the reactions occur in energy spending phase of glycolysis.

AR *ferra [Riemefe @t

(h) Distinguish substrate and oxidative phosphorylation. Mention the steps in
respiration where they occur.

Substrate @ Oxidative phosphorylation-&3 211€&] eeotet Tt 4w efeFmn «3 ¥
P e =7 2
(1) Describe different types of inhibition mechanisms of enzyme action.
TS (AR [fen gam afocaia sfafowfe @1l
(j) Briefly describe the process of nitrate assimilation.
TZCES SEIFACC *Mwfofb HTHCH el
(k) Describe physiological role of gibberellins.
feRIGle-g7 *aager ghmef @l
(I) How the two forms of phytochrome regulate the flowering mechanism?

PIRCBICFICTR G6 hoiten [Pl FAegs 2iatei faae 3 2

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 4th Semester Examination, 2020

BOTHGEC04T/BOTGCOR04T-BOTANY (GE4/DSC4)

Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer the following questions: 1x16 =16

fesfeiiie e Teq wies
(a) Name the components of water potential.
e feraE T =N (TRt |
(b) What is osmosis?
SfeTRe FICF I 9
(c) What do you mean by macro elements?
SfSGE R FE W 9
(d) What is the function of companion cell in phloem transport?
RIS #ATRRC T (P10 PIe 1 9
(e) Name the principal sugar present in the phloem sap.
RRIT %I 2T GPICIC ST TR = 2
(f) What is leghaemoglobin?
ool fereali < 9
(g) Write the full form of RUBISCO.
RUBISCO-@3 3 7I1¥ @1
(h) Name the products formed during light reactions in photosynthesis.
T 7 5 7 (9l Sl 27 9
(1) What is Kranz anatomy?
Kranz Anatomy I (=1 ¢
(j) What is anaerobic respiration?
OIS A ISP T 2
(k) What is transamination?
TITNISCTI FICF 0T 9
(I) What are competitive inhiboitors?
it 2R & ¢
(m) Name a plant hormone which is used as a herbicide.
B! S5 A RFCHNC I T |
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(n) What is photoperiodism?
criGCsfermee w1Cs e 9

(o) Write the definition of critical day length of flowering.
771 SFEFH(A FRID SN FleT I A0 2

(p) What is vernalization?
Vernalization ¢ I 9

2. Answer any eight questions from the following: 3x8 =24
fasfeiie @-cpieal wiBfE elces T ies

(a) Distinguish between transpiration and guttation. Name a plant where guttation
occurs.

A1 @ T A T 01 ¢ @6 SETe AN @TCl QFRCT [3HRE (M0 7ANeT I |
(b) What do you mean by phloem loading and unloading?
CEPICI (1IfER '8 WG FICE e 2
(c) What are allosteric enzymes? Distinguish between Cofactor and Coenzyme.
GEACERT T [ 2 (SITIFT @R (PIETERE-G7 #1241
(d) Mention the role of nitrogen and phosphorus in plants.
BIea BT S THFRAICR IS @A |
(e) Mention the structure of nitrogenase enzyme.
TRCBICSCACETR 910w T @ |
(f) C4 plants are more efficient than C; plants- Justify.
C, Tferma C; Tferm (i vl @ — T30 wfle |
(g) Mention CO; producing steps of TCA cycle.
TCA cycle-93 T4 ©i2 S@Ew Serinaia »iefe @
(h) Distinguish between photo phosphorylation and oxidative phosphorylation.
FORFACEIRIEET IR SISICTS FORFACPIRIEE-a3 21 @

(1) Where does pentose phosphate pathway occur in a cell? Write down the first
reaction of this pathway.

(IICOTET 0D 219l (PICTA (P12 ¢ G #iceis e faferanfs Seard ey
(j) What is the role of ethylene in fruit ripening?
RGERIEGER SERIGEEAC R GAl

(k) Write a short note on the photo-reversibility of phytochrome in
photomorphogenecis.

AR TS FIRBIFIN AGTHT NI 3 AR TRt FooITEF FRCHCA (FTC |
() Classify plants on the basis of photo-periodism.
TR fea fefere Sfema Mo s

N.B. : Students have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of examination within
1 hour after end of exam. University / College authorities will not be held responsible
for wrong submission (at in proper address). Students are strongly advised not to submit
multiple copies of the same answer script.
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